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Q.1 Which of the following qualifications is required to contest the election of the
President of India?
I. He or she must be born outside India.
II. He or she must qualify to become member of House of the People.

Ans 1. Only II

2. Only I

3. Both I and II

4. Neither I nor II

Question ID : 630680315473
Option 1 ID : 6306801227610
Option 2 ID : 6306801227609
Option 3 ID : 6306801227611
Option 4 ID : 6306801227612

Status : Answered
Chosen Option : 4

Q.2 As per Census 2011, which among the following states has female literacy rate above
80 percent?
I. Mizoram
II. Tripura

Ans 1. Both I and II

2. Only II

3. Only I

4. Neither I nor II

Question ID : 630680315470
Option 1 ID : 6306801227599
Option 2 ID : 6306801227598
Option 3 ID : 6306801227597
Option 4 ID : 6306801227600

Status : Not Answered
Chosen Option : --
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Q.3 Which among the following are the trees found in mangrove forests?
Ans 1. Arjun

2. Deodar

3. Sundari

4. Cacti

Question ID : 630680315469
Option 1 ID : 6306801227594
Option 2 ID : 6306801227593
Option 3 ID : 6306801227595
Option 4 ID : 6306801227596

Status : Answered
Chosen Option : 3

Q.4 The coverage rate for DPT3, the third dose of diphtheria, pertussis and tetanus
vaccines, in India was ______, as per the WHO and UNICEF estimates for national
immunisation coverage for 2022.

Ans 1. 95 percent

2. 93 percent

3. 85 percent

4. 91 percent

Question ID : 630680315457
Option 1 ID : 6306801227548
Option 2 ID : 6306801227547
Option 3 ID : 6306801227545
Option 4 ID : 6306801227546

Status : Not Answered
Chosen Option : --

Q.5 Lake chilika lies to the south of which of the following river delta?
Ans 1. Kaveri delta

2. Mahanadi delta

3. Godavari delta

4. Krishna delta

Question ID : 630680315468
Option 1 ID : 6306801227592
Option 2 ID : 6306801227590
Option 3 ID : 6306801227589
Option 4 ID : 6306801227591

Status : Answered
Chosen Option : 4

Q.6 According to the Indian Constitution, respecting the National Flag and the National
Anthem is a ______.

Ans 1. Constitutional Morality

2. Directive Principle of State Policy

3. Fundamental Duty

4. Fundamental Rights

Question ID : 630680315471
Option 1 ID : 6306801227604
Option 2 ID : 6306801227603
Option 3 ID : 6306801227602
Option 4 ID : 6306801227601

Status : Answered
Chosen Option : 3
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Q.7 Which of the following statements is correct regarding Pradhan Mantri Fasal Bima
Yojana?
I. This scheme was launched in October 2018.
II. This scheme covers all Food and Oilseeds crops and Annual
Commercial/Horticultural Crops.

Ans 1. Neither I nor II

2. Only I

3. Only II

4. Both I and II

Question ID : 630680315459
Option 1 ID : 6306801227556
Option 2 ID : 6306801227553
Option 3 ID : 6306801227554
Option 4 ID : 6306801227555

Status : Answered
Chosen Option : 1

Q.8 Rashmi Choudhury won the Sahitya Akademi Award 2022 for which language?
Ans 1. Dogri

2. Bodo

3. Odia

4. Gujarati

Question ID : 630680315465
Option 1 ID : 6306801227577
Option 2 ID : 6306801227579
Option 3 ID : 6306801227578
Option 4 ID : 6306801227580

Status : Not Answered
Chosen Option : --

Q.9 Squash World Cup 2023 was held in ______.
Ans 1. Chennai

2. Ahmedabad

3. Bengaluru

4. Hyderabad

Question ID : 630680315455
Option 1 ID : 6306801227539
Option 2 ID : 6306801227538
Option 3 ID : 6306801227537
Option 4 ID : 6306801227540

Status : Not Answered
Chosen Option : --
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Q.10 Arrange the following Nawabs of Bengal in correct chronological order.
I. Alivardi Khan
II. Murshid Quli Khan
III. Sirajuddaulah

Ans 1. II-III-I

2. I-II-III

3. II-I-III

4. I-III-II

Question ID : 630680315463
Option 1 ID : 6306801227571
Option 2 ID : 6306801227570
Option 3 ID : 6306801227572
Option 4 ID : 6306801227569

Status : Answered
Chosen Option : 2

Q.11 Who is the writer of the book 'Him Taringini'?
Ans 1. Madan Mohan Malviya

2. Rabindranath Tagore

3. Makhan Lal Chaturvedi

4. Atal Bihari Vajpayee

Question ID : 630680315464
Option 1 ID : 6306801227576
Option 2 ID : 6306801227574
Option 3 ID : 6306801227575
Option 4 ID : 6306801227573

Status : Not Answered
Chosen Option : --

Q.12 Which state government signed a tripartite memorandum of understanding (MoU) with
NITI Aayog in July 2022 for a large-scale transformation in school?

Ans 1. Himachal Pradesh

2. Madhya Pradesh

3. Uttar Pradesh

4. Arunachal Pradesh

Question ID : 630680315458
Option 1 ID : 6306801227552
Option 2 ID : 6306801227550
Option 3 ID : 6306801227549
Option 4 ID : 6306801227551

Status : Not Answered
Chosen Option : --
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Q.13 Process by which substances like carbon dioxide or oxygen can move across the cell
membrane is called _________.

Ans 1. diffusion

2. osmosis

3. transpiration

4. guttation

Question ID : 630680315474
Option 1 ID : 6306801227614
Option 2 ID : 6306801227613
Option 3 ID : 6306801227616
Option 4 ID : 6306801227615

Status : Answered
Chosen Option : 3

Q.14 The Ramakrishna Mission set up in ______.
Ans 1. 1897

2. 1907

3. 1877

4. 1887

Question ID : 630680315462
Option 1 ID : 6306801227567
Option 2 ID : 6306801227568
Option 3 ID : 6306801227565
Option 4 ID : 6306801227566

Status : Answered
Chosen Option : 4

Q.15 The negative slope of the demand curve can be explained in which of the following
terms?I. Substitution effectII. Income effect

Ans 1. Neither I nor II

2. Both I and II

3. Only II

4. Only I

Question ID : 630680315461
Option 1 ID : 6306801227564
Option 2 ID : 6306801227563
Option 3 ID : 6306801227562
Option 4 ID : 6306801227561

Status : Answered
Chosen Option : 2

Q.16 The ratio of additional consumption to additional income is called ______.
Ans 1. average propensity to save

2. marginal propensity to save

3. Ex ante consumption

4. marginal propensity to consume

Question ID : 630680315460
Option 1 ID : 6306801227558
Option 2 ID : 6306801227559
Option 3 ID : 6306801227557
Option 4 ID : 6306801227560

Status : Answered
Chosen Option : 3
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Q.17 Which of the following festivals is/are associated with the celebration of regional New
Year day in India?
I. Gudhi Padwa
II. Poila Baishak

Ans 1. Neither I nor II

2. Both I and II

3. Only I

4. Only II

Question ID : 630680315467
Option 1 ID : 6306801227588
Option 2 ID : 6306801227587
Option 3 ID : 6306801227585
Option 4 ID : 6306801227586

Status : Answered
Chosen Option : 3

Q.18 Which among the following languages belongs to the Dravidian language family?
I. Korwa
II. Tulu

Ans 1. Neither I nor II

2. Only II

3. Both I and II

4. Only I

Question ID : 630680315466
Option 1 ID : 6306801227584
Option 2 ID : 6306801227582
Option 3 ID : 6306801227583
Option 4 ID : 6306801227581

Status : Answered
Chosen Option : 2

Q.19 Which of the following is NOT a writ issued by the Supreme Court of India?
Ans 1. Prohibition

2. Prima facie

3. Quo warranto

4. Certiorari

Question ID : 630680315472
Option 1 ID : 6306801227605
Option 2 ID : 6306801227608
Option 3 ID : 6306801227606
Option 4 ID : 6306801227607

Status : Answered
Chosen Option : 2
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Q.20 Which of the following pairs of ‘player – sports’ is correctly matched?

I. Bhakti Pradip Kulkarni – Chess
II. Sagar Kailas Ovhalkar – Shooting

Ans 1. Both I and II

2. Neither I nor II

3. Only I

4. Only II

Question ID : 630680315456
Option 1 ID : 6306801227543
Option 2 ID : 6306801227544
Option 3 ID : 6306801227541
Option 4 ID : 6306801227542

Status : Not Answered
Chosen Option : --

Q.1 In the question given below, relationships between different elements are shown in the
statements. These statements are followed by two conclusions. Give answer:
Statements:
I. P > Q ≥ R; T = N > E > R
Conclusions:
I. P > R
II. T > Q

Ans 1. If only conclusion I is true

2. If both conclusions I and II are true

3. If neither conclusion I nor conclusion II is true

4. If only conclusion II is true

Question ID : 630680315480
Option 1 ID : 6306801227637
Option 2 ID : 6306801227640
Option 3 ID : 6306801227639
Option 4 ID : 6306801227638

Status : Answered
Chosen Option : 1

Q.2 Consider the string given below made up of letter-symbol. Which letter/symbol will be
the 12th element to the left of the 6th element from the right?
% * R R * S S S * R S R * S * R * % * * % S S % *

Ans 1. %

2. S

3. *

4. R

Question ID : 630680315482
Option 1 ID : 6306801227646
Option 2 ID : 6306801227648
Option 3 ID : 6306801227645
Option 4 ID : 6306801227647

Status : Answered
Chosen Option : 2

Section : General Intelligence & Reasoning Ability
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Q.3 A is the brother of B. B is the sister of C. C is the father of D. D is the wife of E. E is the
father of F. F is the husband of G. How many female members are there?

Ans 1. 3

2. 1

3. 4

4. 2

Question ID : 630680315483
Option 1 ID : 6306801227650
Option 2 ID : 6306801227652
Option 3 ID : 6306801227649
Option 4 ID : 6306801227651

Status : Answered
Chosen Option : 1

Q.4 In the following question, select the missing number from the given series.
1, 2, 8, 25, 66, ?

Ans 1. 168

2. 161

3. 160

4. 157

Question ID : 630680315492
Option 1 ID : 6306801227688
Option 2 ID : 6306801227687
Option 3 ID : 6306801227686
Option 4 ID : 6306801227685

Status : Not Answered
Chosen Option : --

Q.5 In the following question, select the missing number from the given series.
2, 2, 3, 5.5, 12, ?

Ans 1. 28

2. 25

3. 31

4. 27

Question ID : 630680315491
Option 1 ID : 6306801227681
Option 2 ID : 6306801227684
Option 3 ID : 6306801227683
Option 4 ID : 6306801227682

Status : Not Answered
Chosen Option : --
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Q.6 A series is given with one term missing. Select the correct alternative from the given
ones that will complete the series.
AM, WV, SE, ON, ?

Ans 1. TD

2. KW

3. LW

4. LM

Question ID : 630680315481
Option 1 ID : 6306801227642
Option 2 ID : 6306801227643
Option 3 ID : 6306801227641
Option 4 ID : 6306801227644

Status : Answered
Chosen Option : 2

Q.7 6 boys A, B, C, D, E and F lives in a six-floor building. Lowermost floor is numbered 1,
floor above it is numbered 2 and so on till the topmost floor which is numbered 6. No
two person live on the same floor. F lives on an odd numbered floor. Three persons
live between A and B. Only A and F lives above D. C lives on an prime numbered floor.
Who lives just above C?

Ans 1. D

2. B

3. A

4. F

Question ID : 630680315477
Option 1 ID : 6306801227625
Option 2 ID : 6306801227628
Option 3 ID : 6306801227627
Option 4 ID : 6306801227626

Status : Answered
Chosen Option : 2

Q.8 After interchanging the which two numbers, the value of the given equation will be
‘14’?
3 × 5 + 4 – 6 ÷ 2

Ans 1. 4 and 2

2. 4 and 3

3. 5 and 4

4. 2 and 3

Question ID : 630680315493
Option 1 ID : 6306801227689
Option 2 ID : 6306801227690
Option 3 ID : 6306801227691
Option 4 ID : 6306801227692

Status : Answered
Chosen Option : 3
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Q.9 In the question given below, relationships between different elements are shown in the
statements. These statements are followed by two conclusions. Give answer:
Statements:
I. G ≤ J < T; N ≥ K = P; N = E > G
Conclusions:
I. G < T
II. K < G

Ans 1. If neither conclusion I nor conclusion II is true

2. If only conclusion I is true

3. If only conclusion II is true

4. If both conclusions I and II are true

Question ID : 630680315479
Option 1 ID : 6306801227635
Option 2 ID : 6306801227633
Option 3 ID : 6306801227634
Option 4 ID : 6306801227636

Status : Answered
Chosen Option : 1

Q.10 ‘P $ Q’ means ‘P is the father of Q’, ‘P # Q’ means ‘P is the mother of Q’, ‘P * Q’ means
‘P is the sister of Q’, then how is Q related to N’ if ‘N # L $ X * Q?

Ans 1. data inadequate

2. grandson

3. nephew

4. granddaughter

Question ID : 630680315484
Option 1 ID : 6306801227656
Option 2 ID : 6306801227653
Option 3 ID : 6306801227655
Option 4 ID : 6306801227654

Status : Answered
Chosen Option : 1
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Q.11

Ans

1. 

2. 

3. 

4. 

Question ID : 630680315490
Option 1 ID : 6306801227679
Option 2 ID : 6306801227677
Option 3 ID : 6306801227678
Option 4 ID : 6306801227680

Status : Answered
Chosen Option : 1

Q.12 In the following question, four letter pairs are given. The letters on left side of (–) is
related to the letters on the right side of (–) with some Logic/Rule/Relation. Three are
similar on basis of same Logic/Rule/Relation. Select the odd one out from the given
alternatives.

Ans 1. CRNW – FUQZ

2. MBXG – PEAJ

3. WLHQ – ZOKT

4. LRTJ – OUWN

Question ID : 630680315487
Option 1 ID : 6306801227665
Option 2 ID : 6306801227666
Option 3 ID : 6306801227667
Option 4 ID : 6306801227668

Status : Answered
Chosen Option : 4
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Q.13 After interchanging the which two numbers, the value of the given equation will be
‘71’?
9 × 7 – 8 ÷ 1 + 6

Ans 1. 7 and 8

2. 8 and 9

3. 7 and 6

4. 8 and 6

Question ID : 630680315494
Option 1 ID : 6306801227694
Option 2 ID : 6306801227693
Option 3 ID : 6306801227695
Option 4 ID : 6306801227696

Status : Answered
Chosen Option : 1

Q.14

Ans

1. 

2. 

3. 

4. 

Question ID : 630680315489
Option 1 ID : 6306801227675
Option 2 ID : 6306801227676
Option 3 ID : 6306801227674
Option 4 ID : 6306801227673

Status : Answered
Chosen Option : 4

Q.15 In the following question, select the related letters from the given alternatives.
MY : HT :: KW : ?

Ans 1. OS

2. RP

3. FR

4. NO

Question ID : 630680315485
Option 1 ID : 6306801227658
Option 2 ID : 6306801227659
Option 3 ID : 6306801227660
Option 4 ID : 6306801227657

Status : Answered
Chosen Option : 3
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Q.16 Seven workers P, Q, R, S, T, U and V are sitting around a circular table facing towards
the centre (not necessarily in the same order). Q is second to the right of T. U is
immediate neighbour of both Q and V. P is immediate neighbour of both T and S. Who
is second to the left of P?

Ans 1. U

2. Q

3. V

4. R

Question ID : 630680315475
Option 1 ID : 6306801227620
Option 2 ID : 6306801227618
Option 3 ID : 6306801227619
Option 4 ID : 6306801227617

Status : Answered
Chosen Option : 3

Q.17 In the following question, four letter pairs are given. The letters on left side of (–) is
related to the letters on the right side of (–) with some Logic/Rule/Relation. Three are
similar on basis of same Logic/Rule/Relation. Select the odd one out from the given
alternatives.

Ans 1. DPKV – FRMX

2. JYQB – LASD

3. TFAL – VHCN

4. PDTV – TFVY

Question ID : 630680315488
Option 1 ID : 6306801227670
Option 2 ID : 6306801227669
Option 3 ID : 6306801227671
Option 4 ID : 6306801227672

Status : Answered
Chosen Option : 4

Q.18 In the following question, select the related letter pair from the given alternatives.
TCE : PYA :: ?

Ans 1. OXB : KTX

2. APO : POZ

3. ABC : DKM

4. ZOL : HUC

Question ID : 630680315486
Option 1 ID : 6306801227661
Option 2 ID : 6306801227662
Option 3 ID : 6306801227663
Option 4 ID : 6306801227664

Status : Answered
Chosen Option : 1
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Q.19 Seven women A, B, C, D, E, F and G are sitting around a circular table facing opposite
to the centre (not necessarily in the same order). G is second to the right of C. F is to
the immediate right of C. A is third to the right of E. B is the immediate neighbour of D
and E.Which of the following statement(s) is/are correct?
I. B is to the immediate right of E.
II. G is third to the right of A.

Ans 1. Neither I nor II

2. Only II

3. Both I and II

4. Only I

Question ID : 630680315476
Option 1 ID : 6306801227624
Option 2 ID : 6306801227622
Option 3 ID : 6306801227623
Option 4 ID : 6306801227621

Status : Answered
Chosen Option : 3

Q.20 In the following question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true even if
they seem to be at variance from commonly known facts. Read all the conclusions and
then decide which of the given conclusion logically follows the given statements.
Statements:
I. All Q are Y.
II. Some Y are A.
Conclusion:
I. Some A are not Q.
II. Some Y are not Q.
III. Some Q are Y.

Ans 1. Only conclusion III follows

2. All conclusion follows

3. Both conclusions I and III follows

4. Both conclusions II and III follows

Question ID : 630680315478
Option 1 ID : 6306801227629
Option 2 ID : 6306801227632
Option 3 ID : 6306801227631
Option 4 ID : 6306801227630

Status : Answered
Chosen Option : 2

Q.1

Ans 1. 

2. 

3. 

4. 

Question ID : 630680315496
Option 1 ID : 6306801227702
Option 2 ID : 6306801227703
Option 3 ID : 6306801227704
Option 4 ID : 6306801227701

Status : Answered
Chosen Option : 2

Section : Arithmetical & Numerical Ability
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Q.2

Ans
1. 

2. 

3. 

4. 

Question ID : 630680315511
Option 1 ID : 6306801227764
Option 2 ID : 6306801227762
Option 3 ID : 6306801227761
Option 4 ID : 6306801227763

Status : Answered
Chosen Option : 1

Q.3

Ans 1. 

2. 

3. 

4. 

Question ID : 630680315508
Option 1 ID : 6306801227749
Option 2 ID : 6306801227751
Option 3 ID : 6306801227750
Option 4 ID : 6306801227752

Status : Answered
Chosen Option : 1

Q.4

Ans 1. 

2. 

3. 

4. 

Question ID : 630680315509
Option 1 ID : 6306801227753
Option 2 ID : 6306801227756
Option 3 ID : 6306801227754
Option 4 ID : 6306801227755

Status : Answered
Chosen Option : 3
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Q.5

Ans 1. 

2. 

3. 

4. 

Question ID : 630680315499
Option 1 ID : 6306801227716
Option 2 ID : 6306801227715
Option 3 ID : 6306801227714
Option 4 ID : 6306801227713

Status : Answered
Chosen Option : 2

Q.6

Ans 1. 

2. 

3. 

4. 

Question ID : 630680315514
Option 1 ID : 6306801227776
Option 2 ID : 6306801227775
Option 3 ID : 6306801227774
Option 4 ID : 6306801227773

Status : Answered
Chosen Option : 1

Q.7

Ans 1. 

2. 

3. 

4. 

Question ID : 630680315506
Option 1 ID : 6306801227744
Option 2 ID : 6306801227741
Option 3 ID : 6306801227743
Option 4 ID : 6306801227742

Status : Answered
Chosen Option : 1
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Q.8

Ans 1. 

2. 

3. 

4. 

Question ID : 630680315500
Option 1 ID : 6306801227720
Option 2 ID : 6306801227719
Option 3 ID : 6306801227718
Option 4 ID : 6306801227717

Status : Answered
Chosen Option : 1

Q.9

Ans 1. 

2. 

3. 

4. 

Question ID : 630680315512
Option 1 ID : 6306801227768
Option 2 ID : 6306801227765
Option 3 ID : 6306801227766
Option 4 ID : 6306801227767

Status : Answered
Chosen Option : 1

Q.10

Ans 1. 

2. 

3. 

4. 

Question ID : 630680315504
Option 1 ID : 6306801227736
Option 2 ID : 6306801227734
Option 3 ID : 6306801227733
Option 4 ID : 6306801227735

Status : Answered
Chosen Option : 4
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Q.11

Ans
1. 

2. 

3. 

4. 

Question ID : 630680315495
Option 1 ID : 6306801227699
Option 2 ID : 6306801227698
Option 3 ID : 6306801227697
Option 4 ID : 6306801227700

Status : Not Answered
Chosen Option : --

Q.12

Ans 1. 

2. 

3. 

4. 

Question ID : 630680315505
Option 1 ID : 6306801227738
Option 2 ID : 6306801227740
Option 3 ID : 6306801227737
Option 4 ID : 6306801227739

Status : Not Answered
Chosen Option : --

Q.13

Ans 1. 

2. 

3. 

4. 

Question ID : 630680315497
Option 1 ID : 6306801227706
Option 2 ID : 6306801227708
Option 3 ID : 6306801227707
Option 4 ID : 6306801227705

Status : Answered
Chosen Option : 4
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Q.14

Ans 1. 

2. 

3. 

4. 

Question ID : 630680315507
Option 1 ID : 6306801227748
Option 2 ID : 6306801227746
Option 3 ID : 6306801227747
Option 4 ID : 6306801227745

Status : Answered
Chosen Option : 3

Q.15

Ans 1. 

2. 

3. 

4. 

Question ID : 630680315510
Option 1 ID : 6306801227760
Option 2 ID : 6306801227757
Option 3 ID : 6306801227759
Option 4 ID : 6306801227758

Status : Answered
Chosen Option : 2

Q.16

Ans 1. 

2. 

3. 

4. 

Question ID : 630680315513
Option 1 ID : 6306801227770
Option 2 ID : 6306801227769
Option 3 ID : 6306801227772
Option 4 ID : 6306801227771

Status : Answered
Chosen Option : 3
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Q.17

Ans 1. 

2. 

3. 

4. 

Question ID : 630680315503
Option 1 ID : 6306801227730
Option 2 ID : 6306801227732
Option 3 ID : 6306801227731
Option 4 ID : 6306801227729

Status : Answered
Chosen Option : 4

Q.18

Ans 1. 

2. 

3. 

4. 

Question ID : 630680315502
Option 1 ID : 6306801227725
Option 2 ID : 6306801227727
Option 3 ID : 6306801227726
Option 4 ID : 6306801227728

Status : Answered
Chosen Option : 1

Q.19

Ans 1. 

2. 

3. 

4. 

Question ID : 630680315498
Option 1 ID : 6306801227712
Option 2 ID : 6306801227710
Option 3 ID : 6306801227711
Option 4 ID : 6306801227709

Status : Answered
Chosen Option : 3
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Q.20

Ans 1. 

2. 

3. 

4. 

Question ID : 630680315501
Option 1 ID : 6306801227722
Option 2 ID : 6306801227724
Option 3 ID : 6306801227723
Option 4 ID : 6306801227721

Status : Answered
Chosen Option : 4

Q.1 दिए गये वाक्य में रे खांकित शब्द को सही कीजिए।
राहुल को शतरंज खेलनी नहीं आता हैं।

Ans 1. खोलनी

2. खेलनि

3. खुलना

4. खेलना

Question ID : 630680315565
Option 1 ID : 6306801227969
Option 2 ID : 6306801227972
Option 3 ID : 6306801227971
Option 4 ID : 6306801227970

Status : Answered
Chosen Option : 4

Q.2 रिक्त स्थानों की पूर्ति  करें ।
समाज में चारों ओर जो कु छ नया सामयिक घटित हो रहा है, उसका विवरण या उसकी ______ को समाचार
कहते हैं।

Ans 1. घटनाओं

2. विधानों

3. प्रावधानों

4. सूचनाओं

Question ID : 630680315569
Option 1 ID : 6306801227986
Option 2 ID : 6306801227987
Option 3 ID : 6306801227988
Option 4 ID : 6306801227985

Status : Answered
Chosen Option : 4

Section : Hindi (Language & Comprehension)
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Q.3 दिए गए चार विकल्पों में से, एक सुसंगत अनुच्छेद बनाने के  लिए वाक्यों के  सबसे तार्कि क क्रम का चयन करें ।
क. सभी पुत्र ईमानदार और मेहनती थी।
ख. सभी एक दू सरे  से छोटी मोटी बातों पर लड़ते रहते थे।
ग. बस एक समस्या यह थी कि उनकी आपस में बनती नहीं थी।
घ. एक गांव में एक किसान रहता था और उसके  चार पुत्र थे।

Ans 1. घ, ख, क, ग

2. क, ख, घ, ग

3. ग, ख, घ, क

4. घ, क, ग, ख

Question ID : 630680315562
Option 1 ID : 6306801227959
Option 2 ID : 6306801227957
Option 3 ID : 6306801227960
Option 4 ID : 6306801227958

Status : Answered
Chosen Option : 4

Q.4 दिए गये वाक्य में रे खांकित शब्द को सही कीजिए।
पारस सूरज का छोटी भाई हैं।

Ans 1. छोटि

2. छोटा

3. छोटे

4. छु टा

Question ID : 630680315566
Option 1 ID : 6306801227973
Option 2 ID : 6306801227975
Option 3 ID : 6306801227976
Option 4 ID : 6306801227974

Status : Answered
Chosen Option : 2

Q.5 निम्नलिखित प्रश्न में, दिए गए चार विकल्पों में से, उस विकल्प का चयन करें  जो दिए गए मुहावरे  के  अर्थ को
सर्वश्रेष्ठ रूप से व्यक्त करता है।
जबान का कच्चा होना

Ans 1. गूंगा व्यक्ति

2. झूठा व्यक्ति

3. सच्चा व्यक्ति

4. मितभाषी

Question ID : 630680315571
Option 1 ID : 6306801227996
Option 2 ID : 6306801227995
Option 3 ID : 6306801227994
Option 4 ID : 6306801227993

Status : Answered
Chosen Option : 4
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Q.6 दिए गए शब्द का विलोम ज्ञात कीजिए।
उपचार

Ans 1. अनादर

2. प्रकाश

3. अनुचित

4. अपचार

Question ID : 630680315574
Option 1 ID : 6306801228008
Option 2 ID : 6306801228007
Option 3 ID : 6306801228006
Option 4 ID : 6306801228005

Status : Answered
Chosen Option : 4

Q.7 रिक्त स्थानों की पूर्ति  करें ।
प्राकृ ति हमारे  जीवन का एक महत्वपूर्ण भाग है और हमें अपने पर्यावरण के  ______ का ध्यान रखना चाहिए।

Ans 1. संकोच

2. नाम

3. सरंक्षण

4. परिश्रम

Question ID : 630680315570
Option 1 ID : 6306801227992
Option 2 ID : 6306801227990
Option 3 ID : 6306801227989
Option 4 ID : 6306801227991

Status : Answered
Chosen Option : 3

Q.8 दिए गए शब्द का पर्यायवाची ज्ञात कीजिए।
आलोक

Ans 1. प्रकाश

2. अंधकार

3. प्रजा

4. गगन

Question ID : 630680315576
Option 1 ID : 6306801228016
Option 2 ID : 6306801228014
Option 3 ID : 6306801228015
Option 4 ID : 6306801228013

Status : Answered
Chosen Option : 1
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Q.9 दिए गए वाक्यांश के  लिए सार्थक शब्द ज्ञात कीजिए।
किसी बात को बढ़ा-चढ़ा कर कहना।

Ans 1. आद्योपांत

2. अतिश्योक्ति

3. आक्रांत

4. लोकप्रिय

Question ID : 630680315564
Option 1 ID : 6306801227965
Option 2 ID : 6306801227966
Option 3 ID : 6306801227967
Option 4 ID : 6306801227968

Status : Answered
Chosen Option : 2

Q.10 रिक्त स्थानों की पूर्ति  करें ।
छोटे छोटे जानवर भी बुढ़े शेर को चकमा देकर ______ जाते थे।

Ans 1. भाग

2. थक

3. घिस

4. टूट

Question ID : 630680315567
Option 1 ID : 6306801227978
Option 2 ID : 6306801227979
Option 3 ID : 6306801227980
Option 4 ID : 6306801227977

Status : Answered
Chosen Option : 1

Q.11 दिए गए वाक्यांश के  लिए सार्थक शब्द ज्ञात कीजिए।
जो कानून के  विरुद्ध हो।

Ans 1. निरीक्षक

2. अवैध

3. वैध

4. संवैधानिक

Question ID : 630680315563
Option 1 ID : 6306801227962
Option 2 ID : 6306801227963
Option 3 ID : 6306801227964
Option 4 ID : 6306801227961

Status : Answered
Chosen Option : 2
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Q.12 निम्नलिखित प्रश्न में, दिए गए चार विकल्पों में से, उस विकल्प का चयन करें  जो दिए गए लोकोक्तियाँ के  अर्थ को
सर्वश्रेष्ठ रूप से व्यक्त करता है।
जहाँ जाए भूखा, वहाँ पड़े सूखा।

Ans 1. खाना नसीब नहीं होन

2. धोखेबाज होना

3. पूरी तरह बाध्य कर देना

4. मन से दुखी व्यक्ति को कहीं आराम नहीं मिलता हैं

Question ID : 630680315573
Option 1 ID : 6306801228002
Option 2 ID : 6306801228004
Option 3 ID : 6306801228003
Option 4 ID : 6306801228001

Status : Answered
Chosen Option : 4

Q.13 रिक्त स्थानों की पूर्ति  करें ।
जीवन के  हर कदम पर सीखना और उसको सुधारने की ______ रखना, सफलता की दिशा में  महत्वपूर्ण कदम है।

Ans 1. विफलता

2. क्षमता

3. सामान

4. नाम

Question ID : 630680315568
Option 1 ID : 6306801227982
Option 2 ID : 6306801227983
Option 3 ID : 6306801227984
Option 4 ID : 6306801227981

Status : Answered
Chosen Option : 2

Q.14 दिए गए शब्द का विलोम ज्ञात कीजिए।
दीर्घ

Ans 1. उदय

2. विशाल

3. प्राचीन

4. लघु

Question ID : 630680315575
Option 1 ID : 6306801228012
Option 2 ID : 6306801228009
Option 3 ID : 6306801228010
Option 4 ID : 6306801228011

Status : Answered
Chosen Option : 4
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Q.15 दिए गए चार विकल्पों में से, एक सुसंगत अनुच्छेद बनाने के  लिए वाक्यों के  सबसे तार्कि क क्रम का चयन करें ।
क. इसी कारण उसके  माता पिता उससे परे शान रहते हैं।
ख. उसका ध्यान खेलकू द में ज्यादा रहता है।
ग. अभिषेक नाम का एक लड़का है।
घ. वह पढ़ाई में कम रूची रखता है।

Ans 1. ग, क, घ, ख

2. ग, घ, ख, क

3. क, ग, घ, ख

4. घ, ग, ख, क

Question ID : 630680315561
Option 1 ID : 6306801227956
Option 2 ID : 6306801227954
Option 3 ID : 6306801227953
Option 4 ID : 6306801227955

Status : Answered
Chosen Option : 2

Q.16 निम्नलिखित प्रश्न में, दिए गए चार विकल्पों में से, उस विकल्प का चयन करें  जो दिए गए मुहावरे  के  अर्थ को
सर्वश्रेष्ठ रूप से व्यक्त करता है।
पका पकाया मिलना।

Ans 1. बिना मेहनत किए मिलना

2. कु छ नहीं मिलना

3. बहुत बड़ा लाभ होना

4. बहुत अच्छा लगना

Question ID : 630680315572
Option 1 ID : 6306801227998
Option 2 ID : 6306801228000
Option 3 ID : 6306801227999
Option 4 ID : 6306801227997

Status : Answered
Chosen Option : 1
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Comprehension:

एक गद्यांश दिया गया है । गद्यांश के  आधार पर चार प्रश्न दिए गए हैं । गद्यांश को ध्यानपूर्वक पढ़ें तथा प्रत्येक प्रश्न के
चार विकल्पों में से सही विकल्प चुने।
उल्टा पिरामिड सिद्धांत समाचार लेखन का बुनियादी सिद्धांत है । यह समाचार लेखन का सबसे सरल, उपयोगी और
व्यावहारिक सिद्धांत है । समाचार लेखन का यह सिद्धांत कथा या कहानी लेखन की प्रक्रिया के  ठीक उलटा है । इसमें
किसी घटना, विचार या समस्या के  सबसे महत्वपूर्ण तथ्यों या जानकारियों को सबसे पहले बताया जाता है , जबकि
कहानी या उपन्यास में क्लाइमेक्स सबसे अंत में आता है । इसे उल्टा पिरामिड इसलिए कहा जाता है , क्योंकि इसमें  सबसे
महत्वपूर्ण तथ्य या सूचनाएँ  आती है , जबकि पिरामिड के  निचले हिस्से में अन्य तथ्य या सूचनाएँ  होती है । इस शैली में
पिरामिड को उल्टा कर दिया जाता है ।
इसमें सबसे महत्वपूर्ण सूचना पिरामिड के  सबसे ऊपरी हिस्से में होती है  और घटते हुए क्रम में सबसे कम महत्व की
सूचनाएँ  सबसे निचले हिस्से में होती है ।
समाचार लेखन की उल्टा पिरामिड शैली के  तहत लिखे गये समाचारों को सुविधा की दृष्टि से मुख्यत: तीन हिस्सों में
विभाजित किया जाता है - मुखड़ा या इंट्रो या लीड, बॉडी और निष्कर्ष या समापन। इसमें मुखड़ा या इंट्रो समाचार के
पहले और कभी-कभी पहले और दू सरे  दोनों अनुच्छेदों को कहा जाता है । मुखड़ा किसी भी समाचार का सबसे महत्वपूर्ण
हिस्सा होता है , क्योंकि इसमें सबसे महत्वपूर्ण तथ्यों और सूचनाओं को लिखा जाता है । इसके  बाद समाचार की बॉडी
आती है , जिसमें महत्व के  अनुसार घटते हुए क्रम में सूचनाओं का ब्यौरा देने के  अलावा उसकी पृष्ठभूमि का भी जिक्र
किया जाता है । सबसे अंत में निष्कर्ष या समापन आता है ।
समाचार लेखन में निष्कर्ष जैसी कोई चीज नहीं होती है  और न ही समाचार के  अंत में यह बताया जाता है  कि यहां
समाचार का समापन हो गया है ।

SubQuestion No : 17
Q.17 उल्टा पिरामिड सिद्धांत समाचार लेखन का कै सा सिद्धांत है?

Ans 1. अव्यावहारिक

2. कठिन

3. व्यावहारिक

4. गलत

Question ID : 630680315560
Option 1 ID : 6306801227951
Option 2 ID : 6306801227949
Option 3 ID : 6306801227952
Option 4 ID : 6306801227950

Status : Answered
Chosen Option : 3
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Comprehension:

एक गद्यांश दिया गया है । गद्यांश के  आधार पर चार प्रश्न दिए गए हैं । गद्यांश को ध्यानपूर्वक पढ़ें तथा प्रत्येक प्रश्न के
चार विकल्पों में से सही विकल्प चुने।
उल्टा पिरामिड सिद्धांत समाचार लेखन का बुनियादी सिद्धांत है । यह समाचार लेखन का सबसे सरल, उपयोगी और
व्यावहारिक सिद्धांत है । समाचार लेखन का यह सिद्धांत कथा या कहानी लेखन की प्रक्रिया के  ठीक उलटा है । इसमें
किसी घटना, विचार या समस्या के  सबसे महत्वपूर्ण तथ्यों या जानकारियों को सबसे पहले बताया जाता है , जबकि
कहानी या उपन्यास में क्लाइमेक्स सबसे अंत में आता है । इसे उल्टा पिरामिड इसलिए कहा जाता है , क्योंकि इसमें  सबसे
महत्वपूर्ण तथ्य या सूचनाएँ  आती है , जबकि पिरामिड के  निचले हिस्से में अन्य तथ्य या सूचनाएँ  होती है । इस शैली में
पिरामिड को उल्टा कर दिया जाता है ।
इसमें सबसे महत्वपूर्ण सूचना पिरामिड के  सबसे ऊपरी हिस्से में होती है  और घटते हुए क्रम में सबसे कम महत्व की
सूचनाएँ  सबसे निचले हिस्से में होती है ।
समाचार लेखन की उल्टा पिरामिड शैली के  तहत लिखे गये समाचारों को सुविधा की दृष्टि से मुख्यत: तीन हिस्सों में
विभाजित किया जाता है - मुखड़ा या इंट्रो या लीड, बॉडी और निष्कर्ष या समापन। इसमें मुखड़ा या इंट्रो समाचार के
पहले और कभी-कभी पहले और दू सरे  दोनों अनुच्छेदों को कहा जाता है । मुखड़ा किसी भी समाचार का सबसे महत्वपूर्ण
हिस्सा होता है , क्योंकि इसमें सबसे महत्वपूर्ण तथ्यों और सूचनाओं को लिखा जाता है । इसके  बाद समाचार की बॉडी
आती है , जिसमें महत्व के  अनुसार घटते हुए क्रम में सूचनाओं का ब्यौरा देने के  अलावा उसकी पृष्ठभूमि का भी जिक्र
किया जाता है । सबसे अंत में निष्कर्ष या समापन आता है ।
समाचार लेखन में निष्कर्ष जैसी कोई चीज नहीं होती है  और न ही समाचार के  अंत में यह बताया जाता है  कि यहां
समाचार का समापन हो गया है ।

SubQuestion No : 18
Q.18 समाचार लेखन विधि किसके  विपरीत है?

Ans 1. निबंध

2. डायरी

3. परीक्षा

4. कहानी

Question ID : 630680315559
Option 1 ID : 6306801227946
Option 2 ID : 6306801227948
Option 3 ID : 6306801227947
Option 4 ID : 6306801227945

Status : Answered
Chosen Option : 4
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Comprehension:

एक गद्यांश दिया गया है । गद्यांश के  आधार पर चार प्रश्न दिए गए हैं । गद्यांश को ध्यानपूर्वक पढ़ें तथा प्रत्येक प्रश्न के
चार विकल्पों में से सही विकल्प चुने।
उल्टा पिरामिड सिद्धांत समाचार लेखन का बुनियादी सिद्धांत है । यह समाचार लेखन का सबसे सरल, उपयोगी और
व्यावहारिक सिद्धांत है । समाचार लेखन का यह सिद्धांत कथा या कहानी लेखन की प्रक्रिया के  ठीक उलटा है । इसमें
किसी घटना, विचार या समस्या के  सबसे महत्वपूर्ण तथ्यों या जानकारियों को सबसे पहले बताया जाता है , जबकि
कहानी या उपन्यास में क्लाइमेक्स सबसे अंत में आता है । इसे उल्टा पिरामिड इसलिए कहा जाता है , क्योंकि इसमें  सबसे
महत्वपूर्ण तथ्य या सूचनाएँ  आती है , जबकि पिरामिड के  निचले हिस्से में अन्य तथ्य या सूचनाएँ  होती है । इस शैली में
पिरामिड को उल्टा कर दिया जाता है ।
इसमें सबसे महत्वपूर्ण सूचना पिरामिड के  सबसे ऊपरी हिस्से में होती है  और घटते हुए क्रम में सबसे कम महत्व की
सूचनाएँ  सबसे निचले हिस्से में होती है ।
समाचार लेखन की उल्टा पिरामिड शैली के  तहत लिखे गये समाचारों को सुविधा की दृष्टि से मुख्यत: तीन हिस्सों में
विभाजित किया जाता है - मुखड़ा या इंट्रो या लीड, बॉडी और निष्कर्ष या समापन। इसमें मुखड़ा या इंट्रो समाचार के
पहले और कभी-कभी पहले और दू सरे  दोनों अनुच्छेदों को कहा जाता है । मुखड़ा किसी भी समाचार का सबसे महत्वपूर्ण
हिस्सा होता है , क्योंकि इसमें सबसे महत्वपूर्ण तथ्यों और सूचनाओं को लिखा जाता है । इसके  बाद समाचार की बॉडी
आती है , जिसमें महत्व के  अनुसार घटते हुए क्रम में सूचनाओं का ब्यौरा देने के  अलावा उसकी पृष्ठभूमि का भी जिक्र
किया जाता है । सबसे अंत में निष्कर्ष या समापन आता है ।
समाचार लेखन में निष्कर्ष जैसी कोई चीज नहीं होती है  और न ही समाचार के  अंत में यह बताया जाता है  कि यहां
समाचार का समापन हो गया है ।

SubQuestion No : 19
Q.19 समाचार लेखन की उल्टा पिरामिड शैली के  चरणों का सही क्रम क्या हैं?

Ans 1. निष्कर्ष, बॉडी, इंट्रो

2. बॉडी, निष्कर्ष, इंट्रो

3. बॉडी, इंट्रो, निष्कर्ष

4. इंट्रो, बॉडी, निष्कर्ष

Question ID : 630680315558
Option 1 ID : 6306801227942
Option 2 ID : 6306801227941
Option 3 ID : 6306801227943
Option 4 ID : 6306801227944

Status : Answered
Chosen Option : 4
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Comprehension:

एक गद्यांश दिया गया है । गद्यांश के  आधार पर चार प्रश्न दिए गए हैं । गद्यांश को ध्यानपूर्वक पढ़ें तथा प्रत्येक प्रश्न के
चार विकल्पों में से सही विकल्प चुने।
उल्टा पिरामिड सिद्धांत समाचार लेखन का बुनियादी सिद्धांत है । यह समाचार लेखन का सबसे सरल, उपयोगी और
व्यावहारिक सिद्धांत है । समाचार लेखन का यह सिद्धांत कथा या कहानी लेखन की प्रक्रिया के  ठीक उलटा है । इसमें
किसी घटना, विचार या समस्या के  सबसे महत्वपूर्ण तथ्यों या जानकारियों को सबसे पहले बताया जाता है , जबकि
कहानी या उपन्यास में क्लाइमेक्स सबसे अंत में आता है । इसे उल्टा पिरामिड इसलिए कहा जाता है , क्योंकि इसमें  सबसे
महत्वपूर्ण तथ्य या सूचनाएँ  आती है , जबकि पिरामिड के  निचले हिस्से में अन्य तथ्य या सूचनाएँ  होती है । इस शैली में
पिरामिड को उल्टा कर दिया जाता है ।
इसमें सबसे महत्वपूर्ण सूचना पिरामिड के  सबसे ऊपरी हिस्से में होती है  और घटते हुए क्रम में सबसे कम महत्व की
सूचनाएँ  सबसे निचले हिस्से में होती है ।
समाचार लेखन की उल्टा पिरामिड शैली के  तहत लिखे गये समाचारों को सुविधा की दृष्टि से मुख्यत: तीन हिस्सों में
विभाजित किया जाता है - मुखड़ा या इंट्रो या लीड, बॉडी और निष्कर्ष या समापन। इसमें मुखड़ा या इंट्रो समाचार के
पहले और कभी-कभी पहले और दू सरे  दोनों अनुच्छेदों को कहा जाता है । मुखड़ा किसी भी समाचार का सबसे महत्वपूर्ण
हिस्सा होता है , क्योंकि इसमें सबसे महत्वपूर्ण तथ्यों और सूचनाओं को लिखा जाता है । इसके  बाद समाचार की बॉडी
आती है , जिसमें महत्व के  अनुसार घटते हुए क्रम में सूचनाओं का ब्यौरा देने के  अलावा उसकी पृष्ठभूमि का भी जिक्र
किया जाता है । सबसे अंत में निष्कर्ष या समापन आता है ।
समाचार लेखन में निष्कर्ष जैसी कोई चीज नहीं होती है  और न ही समाचार के  अंत में यह बताया जाता है  कि यहां
समाचार का समापन हो गया है ।

SubQuestion No : 20
Q.20 दिए गए अपठित गद्यांश का उपयुक्त शीर्षक क्या होगा?

Ans 1. कहानी और समाचार

2. समाचार का इंट्रो

3. समाचार के  स्रोत

4. समाचार लेखन सिद्धांत

Question ID : 630680315557
Option 1 ID : 6306801227939
Option 2 ID : 6306801227940
Option 3 ID : 6306801227938
Option 4 ID : 6306801227937

Status : Answered
Chosen Option : 4

Q.1 Choose the most appropriate opposite meaning of the below mentioned word from the
below options:
Lament

Ans 1. Delight

2. Mourn

3. Regret

4. Wail

Question ID : 630680312184
Option 1 ID : 6306801214627
Option 2 ID : 6306801214628
Option 3 ID : 6306801214625
Option 4 ID : 6306801214626

Status : Answered
Chosen Option : 1

Section : English (Language & Comprehension)
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Q.2 Choose the most suitable word to complete the below sentences:
She loved going to the bookstore and spending hours browsing ___ the racks and
shelves, looking for good bargains.

Ans 1. through

2. By

3. way

4. might

Question ID : 630680312178
Option 1 ID : 6306801214602
Option 2 ID : 6306801214601
Option 3 ID : 6306801214603
Option 4 ID : 6306801214604

Status : Answered
Chosen Option : 1

Q.3 Choose the most suitable word to complete the below sentences:
Just as Salina was about to go the cashier to pay for her purchases, she _____the
cookery section.

Ans 1. Looking for

2. spotted

3. To spot

4. spotting

Question ID : 630680312177
Option 1 ID : 6306801214599
Option 2 ID : 6306801214597
Option 3 ID : 6306801214598
Option 4 ID : 6306801214600

Status : Answered
Chosen Option : 2

Q.4 Choose the most appropriate meaning of the below mentioned word from the below
options:
Accomodate

Ans 1. Block

2. Turn out

3. Take in

4. Limit

Question ID : 630680312185
Option 1 ID : 6306801214629
Option 2 ID : 6306801214631
Option 3 ID : 6306801214632
Option 4 ID : 6306801214630

Status : Answered
Chosen Option : 3
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Q.5 Choose the most appropriate one-word substitution for “One who offers his services
without charging for it ”:

Ans 1. Philanderer

2. Missionary

3. Payee

4. Volunteer

Question ID : 630680312171
Option 1 ID : 6306801214573
Option 2 ID : 6306801214576
Option 3 ID : 6306801214575
Option 4 ID : 6306801214574

Status : Answered
Chosen Option : 4

Q.6 Choose the most appropriate one-word substitution for the bracketed word from the
below sentence.

(Heavy rains had lashed) various parts of the country on July 6, prompting the weather
department to issue a red alert.

Ans 1. Heavy rains lashed

2. lashed

3. Heavy rains lash

4. Heavy rains have lashed

Question ID : 630680312173
Option 1 ID : 6306801214581
Option 2 ID : 6306801214584
Option 3 ID : 6306801214582
Option 4 ID : 6306801214583

Status : Answered
Chosen Option : 1

Q.7 Choose the most appropriate meaning of the below quoted idiom from the below
options:
“In the fast lane”

Ans 1. A thrilled and fast paced lane on the road

2. A life filled with excitement.

3. A life filled with sorrowness

4. A dull and boring life which needs excitement

Question ID : 630680312182
Option 1 ID : 6306801214619
Option 2 ID : 6306801214618
Option 3 ID : 6306801214620
Option 4 ID : 6306801214617

Status : Answered
Chosen Option : 2

 
           

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.8 Choose the most appropriate meaning of the below mentioned word from the below
options:
Endurance

Ans 1. Inability

2. Apathy

3. Stamina

4. Weakness

Question ID : 630680312186
Option 1 ID : 6306801214635
Option 2 ID : 6306801214633
Option 3 ID : 6306801214634
Option 4 ID : 6306801214636

Status : Answered
Chosen Option : 3

Q.9 Choose the most suitable word to complete the below sentences:
The ideas of ________and public good in journalism are more than two centuries old.

Ans 1. instrument

2. machinery

3. accessibility

4. accountability

Question ID : 630680312179
Option 1 ID : 6306801214607
Option 2 ID : 6306801214608
Option 3 ID : 6306801214606
Option 4 ID : 6306801214605

Status : Answered
Chosen Option : 4

Q.10 Choose the most logical order of the sentences from among the four given choices to
construct a coherent paragraph.

Modern consumers are seeking more than just food preservation.
A) Processes are becoming more and more sophisticated to meet the demands of
modern consumers.
B) Quality, economy, and convenience are important factors.
C) Overall, food preservation techniques have come a long way from nature's methods
to high-tech processes.
D) In Western or "Westernized" communities, goods do not sell easily if they lack
color, natural flavor, the right texture and are free from defects.

Ans 1. BADC

2. DABC

3. BACD

4. ADCB

Question ID : 630680312176
Option 1 ID : 6306801214595
Option 2 ID : 6306801214594
Option 3 ID : 6306801214596
Option 4 ID : 6306801214593

Status : Answered
Chosen Option : 3
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Q.11 Choose the most appropriate opposite meaning of the below mentioned word from the
below options:
Invasion

Ans 1. Assault

2. Raid

3. Protect

4. Aid

Question ID : 630680312183
Option 1 ID : 6306801214623
Option 2 ID : 6306801214624
Option 3 ID : 6306801214622
Option 4 ID : 6306801214621

Status : Answered
Chosen Option : 3

Q.12 Choose the most appropriate meaning of the below quoted idiom from the below
options:
“Sell Like hot cakes”

Ans 1. No profit at all

2. Unable to sellout anything

3. Quick sellout

4. No sellout at all

Question ID : 630680312181
Option 1 ID : 6306801214615
Option 2 ID : 6306801214616
Option 3 ID : 6306801214613
Option 4 ID : 6306801214614

Status : Answered
Chosen Option : 3

Q.13 Choose the most appropriate one-word substitution for “To surround a place with the
intention of capturing it ”:

Ans 1. Besiege

2. Bivouac

3. Invade

4. Intern

Question ID : 630680312172
Option 1 ID : 6306801214578
Option 2 ID : 6306801214577
Option 3 ID : 6306801214579
Option 4 ID : 6306801214580

Status : Answered
Chosen Option : 1
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Q.14 Choose the most suitable word to complete the below sentences:
I tried to go out on Sunday, but it was raining_________.

Ans 1. awful

2. little

3. amazingly

4. Heavily

Question ID : 630680312180
Option 1 ID : 6306801214612
Option 2 ID : 6306801214610
Option 3 ID : 6306801214611
Option 4 ID : 6306801214609

Status : Answered
Chosen Option : 4

Q.15 Fill in the missing word to complete the sentences below:
_________ it rained a lot, we enjoyed our holiday.

Ans 1. Inspite of

2. Because of

3. Because

4. Although

Question ID : 630680312175
Option 1 ID : 6306801214589
Option 2 ID : 6306801214592
Option 3 ID : 6306801214591
Option 4 ID : 6306801214590

Status : Answered
Chosen Option : 1

Q.16 Fill in the missing word to complete the sentences below:
I haven’t seen our neighbours for ages. They _______ away.

Ans 1. Had went

2. Must have go

3. Had gone

4. Must have gone

Question ID : 630680312174
Option 1 ID : 6306801214588
Option 2 ID : 6306801214586
Option 3 ID : 6306801214587
Option 4 ID : 6306801214585

Status : Answered
Chosen Option : 4
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Comprehension:
In the past, travel was seen as a means of colonization, exploration, and exploitation. Early
travelers considered themselves as teachers, bringing a supposedly superior way of life to
undeveloped countries. The motive behind travel was to make money abroad and then return
home to live as a gentleman. However, with the passage of time, the theory of travel has
undergone a radical change, and the attitude of older countries towards foreigners has
transformed. The modern age regards travel as an intellectual venture and a means of
gaining education.

Today, distance has become insignificant in terms of time, and travel for business, military or
diplomatic reasons has become virtually immediate. The spread of international outlook and
world peace is a result of people meeting overseas, and the admixture of populations has
actual benefits from an educational point of view.

Although few travel primarily for education, it is an inevitable result. Travel teaches us about
climatic conditions, languages, and social and political outlooks of other nationalities.
However, education is incidental and inevitable only for those with receptive and open minds.
For the dull and narrow-minded, who gain no benefit from their travels, it would be better to
stay at home.

In conclusion, the changing face of travel has transformed it into an intellectual venture that
offers educational benefits. The spread of international outlook and the admixture of
populations have actual benefits from an educational point of view. Therefore, travel has
become a function that is accessible to people of all levels of society and is essential for
developing a well-rounded personality.

SubQuestion No : 17
Q.17 What is the meaning of “Radical ”?
Ans 1. Orthodox

2. Revolutionary

3. Conventional

4. Moderate

Question ID : 630680312169
Option 1 ID : 6306801214565
Option 2 ID : 6306801214568
Option 3 ID : 6306801214567
Option 4 ID : 6306801214566

Status : Answered
Chosen Option : 2
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Comprehension:
In the past, travel was seen as a means of colonization, exploration, and exploitation. Early
travelers considered themselves as teachers, bringing a supposedly superior way of life to
undeveloped countries. The motive behind travel was to make money abroad and then return
home to live as a gentleman. However, with the passage of time, the theory of travel has
undergone a radical change, and the attitude of older countries towards foreigners has
transformed. The modern age regards travel as an intellectual venture and a means of
gaining education.

Today, distance has become insignificant in terms of time, and travel for business, military or
diplomatic reasons has become virtually immediate. The spread of international outlook and
world peace is a result of people meeting overseas, and the admixture of populations has
actual benefits from an educational point of view.

Although few travel primarily for education, it is an inevitable result. Travel teaches us about
climatic conditions, languages, and social and political outlooks of other nationalities.
However, education is incidental and inevitable only for those with receptive and open minds.
For the dull and narrow-minded, who gain no benefit from their travels, it would be better to
stay at home.

In conclusion, the changing face of travel has transformed it into an intellectual venture that
offers educational benefits. The spread of international outlook and the admixture of
populations have actual benefits from an educational point of view. Therefore, travel has
become a function that is accessible to people of all levels of society and is essential for
developing a well-rounded personality.

SubQuestion No : 18
Q.18 Identify the inferences drawn from the passage
Ans 1. The modern age does not regard travel as an intellectual venture and a means of

gaining education

2. the changing face of travel has transformed it into an intellectual venture that offers
educational benefits.

3. The dull and narrow-minded people should be travelling more to explore

4. Travel teaches about climatic conditions, racial customs, religions, languages, and
social and political outlooks of other nationalities.

Question ID : 630680312170
Option 1 ID : 6306801214572
Option 2 ID : 6306801214571
Option 3 ID : 6306801214570
Option 4 ID : 6306801214569

Status : Answered
Chosen Option : 2
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Comprehension:
In the past, travel was seen as a means of colonization, exploration, and exploitation. Early
travelers considered themselves as teachers, bringing a supposedly superior way of life to
undeveloped countries. The motive behind travel was to make money abroad and then return
home to live as a gentleman. However, with the passage of time, the theory of travel has
undergone a radical change, and the attitude of older countries towards foreigners has
transformed. The modern age regards travel as an intellectual venture and a means of
gaining education.

Today, distance has become insignificant in terms of time, and travel for business, military or
diplomatic reasons has become virtually immediate. The spread of international outlook and
world peace is a result of people meeting overseas, and the admixture of populations has
actual benefits from an educational point of view.

Although few travel primarily for education, it is an inevitable result. Travel teaches us about
climatic conditions, languages, and social and political outlooks of other nationalities.
However, education is incidental and inevitable only for those with receptive and open minds.
For the dull and narrow-minded, who gain no benefit from their travels, it would be better to
stay at home.

In conclusion, the changing face of travel has transformed it into an intellectual venture that
offers educational benefits. The spread of international outlook and the admixture of
populations have actual benefits from an educational point of view. Therefore, travel has
become a function that is accessible to people of all levels of society and is essential for
developing a well-rounded personality.

SubQuestion No : 19
Q.19 Identify the central theme of the passage
Ans 1. There are no benefits of travelling and one must avoid it

2. Early travelers had a superior way of life due to travelling

3. Travel has evolved over years and has lot educational benefits as well

4. Travel promotes exchange of ideas and good

Question ID : 630680312167
Option 1 ID : 6306801214557
Option 2 ID : 6306801214559
Option 3 ID : 6306801214560
Option 4 ID : 6306801214558

Status : Answered
Chosen Option : 3
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Comprehension:
In the past, travel was seen as a means of colonization, exploration, and exploitation. Early
travelers considered themselves as teachers, bringing a supposedly superior way of life to
undeveloped countries. The motive behind travel was to make money abroad and then return
home to live as a gentleman. However, with the passage of time, the theory of travel has
undergone a radical change, and the attitude of older countries towards foreigners has
transformed. The modern age regards travel as an intellectual venture and a means of
gaining education.

Today, distance has become insignificant in terms of time, and travel for business, military or
diplomatic reasons has become virtually immediate. The spread of international outlook and
world peace is a result of people meeting overseas, and the admixture of populations has
actual benefits from an educational point of view.

Although few travel primarily for education, it is an inevitable result. Travel teaches us about
climatic conditions, languages, and social and political outlooks of other nationalities.
However, education is incidental and inevitable only for those with receptive and open minds.
For the dull and narrow-minded, who gain no benefit from their travels, it would be better to
stay at home.

In conclusion, the changing face of travel has transformed it into an intellectual venture that
offers educational benefits. The spread of international outlook and the admixture of
populations have actual benefits from an educational point of view. Therefore, travel has
become a function that is accessible to people of all levels of society and is essential for
developing a well-rounded personality.

SubQuestion No : 20
Q.20 Identify the suitable title for the passage
Ans 1. Travel & its teachings

2. Travel & modern age problems

3. The Changing Face of Travel and its Educational Benefits

4. The challenges of travel in old times

Question ID : 630680312168
Option 1 ID : 6306801214564
Option 2 ID : 6306801214561
Option 3 ID : 6306801214562
Option 4 ID : 6306801214563

Status : Answered
Chosen Option : 3

Q.1 In which of the following year was the DigiLocker facility launched?
Ans 1. 2019

2. 2015

3. 2020

4. 2018

Question ID : 630680315533
Option 1 ID : 6306801227851
Option 2 ID : 6306801227849
Option 3 ID : 6306801227852
Option 4 ID : 6306801227850

Status : Answered
Chosen Option : 4

Section : Basic Computer Knowledge
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Q.2 What is the full form of C.U.?
Ans 1. Control Unit

2. Computer Unit

3. Central Unit

4. Command Unit

Question ID : 630680315517
Option 1 ID : 6306801227787
Option 2 ID : 6306801227788
Option 3 ID : 6306801227786
Option 4 ID : 6306801227785

Status : Answered
Chosen Option : 1

Q.3 Management and service of on “UMANG APP” comes under which of the following
ministry?

Ans 1. Ministry of Education

2. Ministry of Commerce and Industry

3. Ministry of Corporate Affairs

4. Ministry of electronics and information technology

Question ID : 630680315534
Option 1 ID : 6306801227853
Option 2 ID : 6306801227854
Option 3 ID : 6306801227855
Option 4 ID : 6306801227856

Status : Answered
Chosen Option : 4

Q.4 Which among the following shortcut key is used to open the existing presentation in
the PowerPoint?

Ans 1. Ctrl + O

2. Ctrl + K

3. Ctrl + N

4. Ctrl + M

Question ID : 630680315529
Option 1 ID : 6306801227835
Option 2 ID : 6306801227836
Option 3 ID : 6306801227834
Option 4 ID : 6306801227833

Status : Answered
Chosen Option : 1
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Q.5 Which among the following is correctly matched regarding start menu of Windows xp?
Ans 1. Control Panel - Displays a list of utility configure the computer system and install only

software

2. My Documents - Displays a list of installed program, which a user can start or use

3. All Programs - Displays a list of uninstalled program, which a user can start or use.

4. Control Panel - Displays a list of utility configure the computer system and install
Software and hardware

Question ID : 630680315518
Option 1 ID : 6306801227792
Option 2 ID : 6306801227791
Option 3 ID : 6306801227790
Option 4 ID : 6306801227789

Status : Answered
Chosen Option : 4

Q.6 Which of the following short cut key(s) is used to select current column completely?
Ans 1. Shift + Spacebar+Tab

2. Shift + Spacebar

3. Ctrl + Shift + Spacebar

4. Ctrl + A

Question ID : 630680315527
Option 1 ID : 6306801227828
Option 2 ID : 6306801227825
Option 3 ID : 6306801227826
Option 4 ID : 6306801227827

Status : Answered
Chosen Option : 3

Q.7 What is the smallest font size that can be selected using font size drop down list in MS
Word 2010?

Ans 1. 6

2. 8

3. 7

4. 9

Question ID : 630680315524
Option 1 ID : 6306801227816
Option 2 ID : 6306801227815
Option 3 ID : 6306801227813
Option 4 ID : 6306801227814

Status : Answered
Chosen Option : 2
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Q.8 Arrange the following operating system in proper sequence from earlier to later:- (1)
Windows 95,(2) Windows 98, (3) Windows xp, (4) Windows 2000?

Ans 1. 1,3,2,4

2. 1,2,3,4

3. 1,2,4,3

4. 1,4,3,2

Question ID : 630680315519
Option 1 ID : 6306801227794
Option 2 ID : 6306801227795
Option 3 ID : 6306801227796
Option 4 ID : 6306801227793

Status : Answered
Chosen Option : 3

Q.9 ________ is a presentation program.
Ans 1. Mozilla Firefox

2. MS-PowerPoint

3. Slide Panel

4. U-torrent

Question ID : 630680315528
Option 1 ID : 6306801227830
Option 2 ID : 6306801227831
Option 3 ID : 6306801227832
Option 4 ID : 6306801227829

Status : Answered
Chosen Option : 2

Q.10 Which among the following short cut key is used to see print preview in word
document?

Ans 1. CTRL+F2

2. CTRL+G

3. CTRL+*

4. CTRL+F1

Question ID : 630680315521
Option 1 ID : 6306801227803
Option 2 ID : 6306801227804
Option 3 ID : 6306801227801
Option 4 ID : 6306801227802

Status : Answered
Chosen Option : 4

Q.11 Which section of the IT Act 2000 deals with the punishment for identity theft?
Ans 1. 65A

2. 64

3. 62

4. 66 C

Question ID : 630680315531
Option 1 ID : 6306801227843
Option 2 ID : 6306801227842
Option 3 ID : 6306801227841
Option 4 ID : 6306801227844

Status : Answered
Chosen Option : 1
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Q.12 ________ helps to navigate left and right of the worksheet.
Ans 1. Vertical Scroll Bar

2. Horizontal Scroll Bar

3. Docking Toolbars

4. Status Bar

Question ID : 630680315526
Option 1 ID : 6306801227822
Option 2 ID : 6306801227821
Option 3 ID : 6306801227823
Option 4 ID : 6306801227824

Status : Answered
Chosen Option : 2

Q.13 In which section of IT act - 2000 punishment for publishing or transmitting obscene
material in electronic form has been discussed?

Ans 1. 66

2. 56

3. 68

4. 67

Question ID : 630680315532
Option 1 ID : 6306801227845
Option 2 ID : 6306801227846
Option 3 ID : 6306801227848
Option 4 ID : 6306801227847

Status : Answered
Chosen Option : 2

Q.14 It is a place where one can enter or view formulas or text. Which is being discussed
here?

Ans 1. Workbook

2. Ribbon

3. Formula bar

4. Cell

Question ID : 630680315525
Option 1 ID : 6306801227817
Option 2 ID : 6306801227819
Option 3 ID : 6306801227818
Option 4 ID : 6306801227820

Status : Answered
Chosen Option : 3

Q.15 Which of the following is an operating system?
Ans 1. Google chrome

2. Microsoft Windows

3. Mozilla

4. Debugger

Question ID : 630680315520
Option 1 ID : 6306801227799
Option 2 ID : 6306801227797
Option 3 ID : 6306801227800
Option 4 ID : 6306801227798

Status : Answered
Chosen Option : 2
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Q.16 What is the second largest font size that can be selected using font size drop down list
in MS Word 2010?

Ans 1. 50

2. 55

3. 52

4. 48

Question ID : 630680315523
Option 1 ID : 6306801227811
Option 2 ID : 6306801227809
Option 3 ID : 6306801227810
Option 4 ID : 6306801227812

Status : Answered
Chosen Option : 3

Q.17 Which among the following is also known as the brain of the computer?
Ans 1. Mother Board

2. V.D.U.

3. C.P.U.

4. Control Unit

Question ID : 630680315516
Option 1 ID : 6306801227781
Option 2 ID : 6306801227783
Option 3 ID : 6306801227784
Option 4 ID : 6306801227782

Status : Answered
Chosen Option : 3

Q.18 Who among the following is called the Father of computers?
Ans 1. James Babbage

2. Charles Augusta

3. Lady Augusta

4. Charles Babbage

Question ID : 630680315515
Option 1 ID : 6306801227780
Option 2 ID : 6306801227778
Option 3 ID : 6306801227779
Option 4 ID : 6306801227777

Status : Answered
Chosen Option : 4

Q.19 Which of the following menu of MS-2010 includes watermark command?
Ans 1. Insert

2. View

3. Home

4. Page layout

Question ID : 630680315522
Option 1 ID : 6306801227806
Option 2 ID : 6306801227807
Option 3 ID : 6306801227805
Option 4 ID : 6306801227808

Status : Answered
Chosen Option : 4
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Q.20 Does PowerPoint have the facility to create pdf of PowerPoint presentation?
Ans 1. can't say

2. Truth

3. Perhaps

4. false

Question ID : 630680315530
Option 1 ID : 6306801227839
Option 2 ID : 6306801227837
Option 3 ID : 6306801227840
Option 4 ID : 6306801227838

Status : Answered
Chosen Option : 2
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